Subject: Re: Resource issues
Posted by Paparaciz on Mon, 19 Dec 2011 09:05:20 GMT

View Forum Message <> Reply to Message

| said cpulimit, not cpuunits
in your config you are setting limit 90

please take a note, that to calculate cpulimit you have to sum all cores which you give for CT
so if you have 8 cores cpu all power is 800%

8cores*100% = 800

if you want that CT don't use more than 50% of cpu you have to set it to 400

with limit 90 you set ~10% of cpu power.

if you set for CT 2 cores (--cpus X)
than to calculate limits you need to sum: 2cores*100%=200%
with limit 90 it would be little bit less than 50%
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